
Use several of the examples below to respond to the following topic sentences. Both people 
MUST use the same examples! Make sure to address the claim that’s in the topic sentence! 

 
Examples to use: 

●​ Arkwright’s Factory System 
●​ Water Frame 
●​ Spinning Jenny 
●​ Mule 
●​ Bank of England 
●​ Steam Pump 
●​ Steam Engine 
●​ Canals 
●​ Steamboat 
●​ Railroads 

●​ Locomotive 
●​ Puddling Process 
●​ Wealth of Nations 
●​ Crystal Palace Exhibition 
●​ Zollverein 
●​ Major Edmund Cartwright 
●​ Josiah Wedgewood 
●​ Robert Owen 
●​ Luddites 
●​ Factory Act 

●​ Ten Hours Act 
●​ The Mines Act 
●​ Report on the Sanitary 

Condition of the Laboring 
Population of Britain (1842) 

●​ 1750=15% pop. in urban areas 
vs. 1850=60% pop. in urban 
areas in England 

●​ Early 19th century pop. growth 
9→18mil. in England 

 

Topic Sentence 1A: While the Industrial Revolution had 
its advantages, the negative impact that the IR had on 
society, cannot be ignored. 
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Topic Sentence 1B: While the Industrial Revolution had 
its drawbacks, the positive impact that the IR had on 
society, cannot be ignored. 

Topic Sentence 2A: It wasn’t long until the Industrial 
Revolution spread to continental Europe, and when it 
did, European nations jumped at the opportunity 
knowing that it was sure to bring about the same, 
positive impacts economically. 

Topic Sentence 2B: It wasn’t long until the Industrial 
Revolution spread to continental Europe, and when it 
did, European nations jumped at the opportunity 
knowing that it was sure to bring about the same, 
positive impacts socially. 

Topic Sentence 3A: While the Industrial Revolution was 
in full swing, the economic lives of Europeans changed 
drastically from its early stages to its later stages. 

Topic Sentence 3B: While the Industrial Revolution was 
in full swing, the social lives of Europeans changed 
drastically from its early stages to its later stages. 

 


